Subject: Re: Yet again, The Sky is Falling!
Posted by yp on Fri, 09 Mar 2007 11:17:35 GMT

View Forum Message <> Reply to Message

Hi Carsten,
what happens if you do

>
>

> int_LUT, 412.5, 1, 0.0D, 0.0D, 0.0D, 0.03D, resultl
> int_LUT, 412.5, 1, null, null, null, 0.03D, result2

> int_LUT, 412.5, 1, 0.0D, 0.0D, 0.0D, 0.03D, result3
>
>

is resultl eq result3?

Yes, resultl and result3 are identical.

> |s there any code in int_LUT that references files or
> COMMON blocks? Could that be called even though it is
> not supposed to be?

There is indeed a common block for the LUT, which is a table of pre-
defined factors (in fact | added that before posting the code on the
newsgroup, but the problem was still there even | read the LUT file
inside int_LUT each time).
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